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Q1. Name the disease caused due to the deficiency
of both proteins and carbohydrates.
1) Kwashiorkar 2) Rickets
3) Malnutrition 4) Marasmus
Sperm has......... Part/Parts.
1) One Part 2) Two Parts
3) Three Parts 4) Four Parts
Name the master gland in human body.
1) Pineal gland 2) Pituitary gland

Qs.

Q6.

3) Thyroidgland  4) Adrenal gland
Plant and animals produce acid, name that
acid.

1) Inorgranic Acids

2) Mineral Acids

3) Organic Acid

4) Acetic Acid

Roughage helps in.......c.ccococn.

1) Protecting our body from discases

2) Movement of bowel

3) Providing energy

4) Building and repair of various parts of
body.

Silk fibres are obtained from silkworms.
Silk fibre is obtained at which of the
following stage of its life cycle?
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The ribs move down and inwards.........
1) During Exhalation

2) During Inhalation

3) During Respiration

4) During Reproduction

Larynx is called
1) Match Box
3) Power House

.................

2) Voice Box

4) Toy Box
Roothairhelpsto ...................

(1) Increase the surface area of root for
absorption of water

(2) Increase the surface area of root for
absorption of minerals

(3) Decrease the surface area of root for
absorption of water and minerals

(4) Both (1) and (2)

Pick out the odd-one option on the basis of
respiratory organs.

1) Snake 2) Crow

3) Tadople 4) Goat
Nitrogen fixation occurs duc to........
1) Green House Effect

2) Acid Rain

3) Earthing

4) Lightning

The metal which is not corroded by air,
water and acid is.................

2)Gold
4) Zinc

1) Copper
3)Aluminium

What is the Chemical Formula of Quick
Lime?

1) CaO

3) Ca(OH),

2) CaCO,
4) CaCl,
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The Substances which have very low
ignition temperature and can catch fire
easily with a flame are called..................

1) Flaming Substances

2) Inflammable Substances
3) Fire Proof Substances
4) None of the above

. Which of the following statements are

correct about metals?

(1) Metals are lustrous

(2) Metals are good conductors of heat and
electricity

(3) Metals can be converted into wires
(4) Metals are malleable

Choose the correct option

1) Both (1) and (4)

2)Both (1) and (3)

3) Both (3) and (4)

4) AL (1), (2),(3)and (4)

Indicators are special type of substances
used to test whether a substance is .......
1) Acid 2) Base
3)Acid/Base Both  4) Salt

Which of the following statements is
correct?

I) Evaporation is a Chemical Change

2) Digestion of food is a Chemical Change
3) Burning of paper is a Physical Change
4)All above

Chemical Change is accompained by........
1) Evolution of heat energy

2) Absorption of heat energy
3)Both(1)and (2)

4) None of the above
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Which of the processes given below
involves change from one Physical State

to another Physical State ?

1) Evaporation 2) Condensation
3) Sublimation 4)All of these
Which of the following is not a mixture?
1) Air 2) Pure Water
3) Sea Water 4) Lemonade
Diamond and graphite are .............
1) Allotropes 2) Isotopes
3) Isomers 4) Isomorphous

. Which one of the following waves are used

by the common TV reomote control?
1) Radio Waves  2) Lasers
3) Infrared Waves  4) Ultrasonic Waves

Device used for measuring atomospheric
Pressure is.....c.oviu bt

1) Barometer 2) Odometer

3) Thermometer  4) Speedometer
Rolling Friction produces..............

1) More Friction

2) Least Friction

3) Negligible Friction

4) None of the above

Frequency determines the.........c......
1) Pitch of Sound

2) Speed of Sound

3) Amplitude of Sound

4) All above

60 Vibrations per minutes is equal to......
1) 1 Kilo Hertz

2) 1 Hertz

3) | Mega Hertz

4) | Hecta Hertz
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Q27.

The angle of incidence (i) is equal to the

W27.

angle of reflection (r) in........... 1) ERTS 1 T o
1) Reflection of light 2) WY T AT
2) Refraction of!ighl 3) w1 o
3) Diffraction of light 4) ST T S
4) Interference of light
Q28. Name the type of mirror used in the 28, R F gIRE H IFAN FH A T H
Headlightof car................. B B
1) Convex Mirror 1) 39 T4
2) Plane Mirror 2) WHAA g
3) Concave Mirror 3) ZEae 29
4) Concave and Convex Mirror 4) FgaE 9 Iqe a0 Sl
Q29. Hans Christian Oersted discoverd.......... 9. = fefoama s 3 @ Faw
1) Magnetic effect of electric current 1) farega ¥ i 5
2) Electric effect of’clecn-ic current ' 2) fore w01 3 gt W A
3) Elictromagnct.lc effect of electric 3) e T 3 ferepv T s
current.
4) FramA 85 o R A
4) Magnetic effect of mangetic field ) AT
(30, The Value of 4Km/2 minute is equal to....  ¥30. 4 Feireies ¥fd 2 foFfe..... o SRR B €
1) 4/9 m/s 2) 10/3 m/s 1) 40 WeyAHE  2) 10/3 HieyHES
3) 100/3 m/s 4)13/9 m/s 3) 100/3 TEVAFE 4) 13/9 HvTHs
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Q.32.The tilting of earth is responsible for.......
(1) Change of days
(2) Change of Sunrays
(3) Change of Season
(4) None of above
Q33. Drip irrigation should be used to...............
(1) Uplift Water
(2) Waste Water
(3) Reduce Water
(4) Save Water
Q34. In the treatment of waste water, following
steps are involved : (i) Aeration
(i) Filteration (i) Chlorination
The correct order of these steps is........
(D) (), G, (1) (2) (i), (1), (7)
(3)(0), (i), (i) (4) (i), (i), (i)
Q.35.Choose the right combination of terms
which has no fossil fuel.

(1) wind, wood, coal
(2) wind, wood, sun
(3) wood, ocean, coal
(4) wind, sun, Petroleum
Q.36.The smallest square number divisible by
each one of the number 8,9,10is..........

(1)360 (2) 3600
(3) 3650 (4) 3700
Q.37.The value of x in the given figure is......,
(1)90° =
(2) 120° x
(3) 160° 607
@ 1400 ¢ ¥
Q.38. What is the ratio of 9m to 27 ¢m ?
(1)3:100 (2) 100:3
(3)3:1000 (4) 1000:3
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Q.39.72% of 25 students are good in mathematics.
How many are not good in mathematics?

(n7 (2)9
(3)1 (4)15

Q.40.The number of faces of a solid having
vertices 6 and edges 12are ..........
(16 (2)7
(3)8 (4)9

Q.41. A machine ina soft drink factory fills 840
bottles in six hours. How many bottles will

it fill in five hours?
(1) 700 Bottles  (2) 690 Bottles
(3)540 Bottles (4) ?530 Bottles

Q.42.The Value of p in the equation % +2=8is

(1)10 (2)12
(3)20 (4)14
Q43.(a+b) (a-b) = .............
(1) (a-by* (2) a*>-b*
(3)(a+b)? (4) a’-b’
Q.44.The area of a triangle having base 14cm
and height 7emiis.................
(1)98cm’ (2) 60cm’
(3)44 cm’ (4) 49cm®

Q.45.Raju's father age is 5 years more than three
times Raju's age. Find Raju's age if his
father is 44 years old.

(n13 (2)12
(3)15 (4)14
Q.46.The ages of 5 teachers of a school are

32,41,28,54,35. What is the mean age of
the teachers ?

(1) 36 years
(3) 38 years

(2) 35 years
(4) 37 years

w.39. 25 faenfefai =5 724 famndf nfim § 3= &

faper faremed nifora o s @1 22
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(1) (a-by? (2) a*-b?
(3) (a+by’ (4) a’-b’
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Q47.Commutative property for addition is  W.47. 7 %1 =9 fafm o i SR

definedas............ (1) at(bte)=(ath)+¢
(1)at(btc)=(atb)+c (2)a+b=b+a
(2)atb=b+a (3)ata=b+b
(3)ata=b+b (4) a(b+c) = abtac

(4) a(btc) = ab+ac
Q.48.How is 0.00051 expressed in standard form? ~ ¥.48. 0.00051 %7 Wi wrey 71 & 2

(1)5.1 x10* (2)51 x 107 (1)5.1 =10 (2)51 x 10+
(3)5.1=10°  (4)51 x10° (3)5.1x10%  (4)51 x10*
Q.49. What fraction of the given figure is shaded? R.49. ¥ 78 i 5 fham v swifea 7
)+ ‘
2 (3
R !
3 (2) 3
)+ )
4 (3) E
4) 2 2
3 @3
Q.50.The Va'luc ofexpression 2x>-x—2 When 9.50. AR x= -1 B 2x2-x-2 F1 W Bk
' Ed (1)=1 (2) I
(1)-1 ()1 ant
3)2 @)-2 3)2 =2
Q.5L.If Mohan pays an interest of 2750 for2 2> ?11'3 T 4500 7. W 750 %, A A
years on a sum of 4500, Find the rate of SN ® 1t T 7w
interest. | |
| ' () I3% (2) 6=%
(1) 75% @) 6% ' :
I
I (3)5% (4) 87%
(3)5% (4) 8% 3
Q.52.Find the height ofa cuboid whose volume %52 M F S = A zlﬁ'.m SR
18 275 cm® and base area is 25¢m?? el o S8 e 25 Wit &2
(1) 10em (2) 11 em (1) 1083, (2) 1A,

(3)12¢cm (4)9cm (3) 1287 (4) 9 A,



Q.53. When a dice is thrown then what is the
probability of a number not greater than 5?

2 3
(l); (2) E
3 |
(313 (4}3

Q.54 A train travels for 15 hours and 15 minutes,
if train reached to its destination at 9.30 a.m.
then at what time train started to travel?
(1)6.15am (2) 6.05pm

(3) 6.00 am (4)6.15pm

Q.55.Two line segments are congruent if .......
(1) They have same length.
(2) They have not same length.
(3) They are parallel to each other.
(4) Nonc of above.

Q.56.In Which year Bengal was divided into two
parts?
(1)1915
(3) 1905

(2) 1910
(4) 1920

Q.57. Who was the last Vice-roy of India?
(1)Lord Irwin  (2) Lord Canning
(3) Lord Harding (4) Lord Mount Batten

Q.58 Name the poet who reacted against the
introduction of western education in India?

(1) Bishnu Dev

(2) Amiya Chakravarthy
(3) Rabindranath Tagore
(4) Budha Dev Bose

Q.59.The Revolt of 1857 began from...........
(1) Meerut (2) Delhi
(3)Agra (4) Allahabad
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Q.60............was the disciple of Ramakrishna ~ W.60. ................. THF™ TS ¥ forss

Paramabisiiss. (1) vamit zaE=
(1) Swami Dayanand (2) it i
(2) Swami Vivekanand (3)
(3) Swami Shradhanand 2
(4) Swami Virjanand (4) @ fasr=
Q.61."Hampi' was the capital of which empire? w61 T’ e w2
(1) Vijayanagar (1) fasmarR
(2) Mughal (2) gm@
(3) Mewar (3) Harg
(4) Nonc of Above (4) 3I90ad FrE off 7=
Q.62.Who introduced Doctrine of Lapse? .62, ST & fugia 1 w2 i it e v f
(1) Lord Dalhousie (1) @ zeRh
(2) Lord Warren Hasting (39 et o i
(3) Maharaja Ranjit Singh (3) TewST TS fig
(4) Lord Curzon (4) EE T
Q.63.The Brahmo Samaj was founded by.......... ¥.63. TE TS _— e
(1) Vivekananda (1) fad=wm=
(2) Dayanand Saraswati (2)zariE T
(3) Ishmhmdm Vidyasagar (3 Fvrr fm
(4) Raja Ram Mohan Roy 4 R T
Q.64. Who introduced Ilbert Bill for British India ?  %ed. fatfew vima % fom sova? faer o weatfea fvn
(1) Lord Wavell  (2) Lord Rippen (Meaa  (2) @EhRw
(3)LordLytton  (4) Lord Elgin (3) =g feza (4) &g wfem
Q.65.When was Quit India Movement started? ~ 9.65. I BTE! HigTer % 3= for w1 o 2
(1)1916 (2)1919 (1) 1916 (2) 1919
(3)1922 (4) 1942 $3) 1922 (4) 1942
Q.66.When did the British gain controlon Delhi? -6 i W 3fursl 1 Feam 35w gam ?
(1) 1803 (2) 1892 (1) 1803 (2) 1892
(3) 1857 (4) 1853 (3) 1857 (4) 1853
Q.67.Punch marked coins were made of........  %.67. ¥4 fafea foad femd a7 42
(1)Tin (2) Ivory (1) fea (2) w14t <@

() Silver (4) Gold (3) =i (4) Frm



Q.68. Which one of the following is a fundamental
right?
(1) Right to freedom of religion
(2) Right to property
(3) Right to work
(4) All above
Q.69.Democracy means
(1) Rule of minister
(2) Rule of people
(3) Rule of speaker
(4) All above

Q.70.Secularism means ...........
(1) State is against to allreligions.
(2) State accept only one religion.
(3) State will not give any special concern
with any religion.
(4) None of above

Q.71.Who is the present Vice-President of India?
(1) Dr. Manmohan Singh
(2) Shri LK. Gujral
(3) Shri Narender Modi
(4) Shri M. Venkaiah Naidu

Q.72. What is universal adult franchise?
(1) Right to Vote
(2) Right to freedom

(3) Right to equality
(4) Right to adult freedom

Q.73.How many members are nominated in
Rajya Sabha by President?
(1)10 (2)15

(3)12 (4)20

A
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Q.74.In representative democracies, people do
Not participate. .....o.cocuren.
(1) Directly
(2) Indirectly
(3) Both (1) and (2)
(4) None of above
Q.75.EVM means................
(1) Electronic Voting Machine
(2) Election Voting Machine
(3) Equal Vote Measure
(4) None of above

Q.76.0ur Unity Hes in olr........ccvn e
(1)Socialism  (2) Casteism
(3) Religion (4) Diversity
Q.77.1fa 13-year old child is working in a factory,
what is it called?
(1) Freedom to education
(2) Child Labour
(3)Both (1) and (2)
(4) None of above

Q.78. Who runs post and rail services in the country 7
(1) State Government
(2) Local Government
(3) Central Government
(4)Both(1)and ( 2)

Q.79.When was Supreme Court of India
established?
(1) 26 January, 1947
(2) 26 January, 1948
(3) 26 January, 1949
(4) 26 January, 1950

Q.80. Which type of desert is *Sahara’ ?
(1)Cold (2) Hot
(3) Mild (4) Humid
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).81.The following is not a factor of soil
formation........
(1) Organic Matter
(2) Time
(3) Soil Texture
(4)All above
(.82. To which tribe did 'Birsa’ belong to?
(1)Kols
(2) Mundas
(3) Oreons
(4) Santhals

Q.83. Which one of the following state is not a
producer of Mica?

(1) Karnataka
(2) Jharkhand
(3) Rajasthan
(4) Andhra Pradesh
Q.84.Golden fibre refers 10 ......occvevneee
(1) Tea
(2) Cotton
(3) Jute
(4) Maize

Q.85.'Silicon Valley' is located in ................
(1) Bengaluru
(2) California
(3) Ahmedabad
(4) Pune

Q.86. What is Bigha? |
(1) Unit of Temperature
(2) Unit of Capacity
(3) Unit of Measurement
(4) None of Above
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Q.87.Resources which are found everywhere
are called

(1) Ubiquitous Resources
(2) Potential Resources
(3) Biotic Resources

(4) Renewable Resources

Q.88."Dharavi' the largest slum of the world is
situated in ................

(1) Calcutta
(2) Chennai
(3) Delhi
(4) Mumbai

.89. The process of taking out minerals from
rocks buried under the surface of the earth
is named as
(1) Pumping
(2) Extraction
(3)Mining
(4) None of above

Q.90. Who produced first map of India?
(1) James Mill
(2) James Rennel
(3) Warren Hastings
(4) Irwin
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